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				COMPARING LINEAR FUNCTIONS DAY 2
TRY NOW:
1) The table represents linear function G
	INPUT
	OUTPUT

	-3
	6

	-1
	10

	1
	14

	3
	18



Function L is when the output is six less than three times the input 
Which statement is true?
a) Function G has a greater rate of change 
b) Function L has a greater initial value 
c) Function L has a greater rate of change 
d) Function G has a smaller initial value


2) What is the solution, if any, to the following equation
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I DO:
Jack and Jill are both running in a 200 meter race. They are both running at a constant speed. Jacks running is represented by the equation y = 1.75x and Jill is represented by the table 
	Seconds
	Meters

	10
	15

	13
	19.5

	15
	22.5

	18
	27



Based on the results, what is the difference between Jacks total race time and Jills total race time?
1) Jacks total race time 


2) Jills total race time


3) difference between the two


4) Jeffrey and Claire are walking. Jeffery’s distance walked over time is represented by the graph. Claire walked 140 meters in 2 minutes. What is the difference between Jeffrey and Claire’s rate of change?
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_________________________ has a greater rate of change because ____________________________________
___________________________________________________________________________________________

What do the initial values represent in terms of the context of the problem?



What do the rates of change represent in terms of the context of the problem?
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8. Compare the slope in the equation

y= %x + 2 with the slope shown in the ordered

pairs below. Which has a greater rate of
change?

{(1,2.6),(3,3.8),(5,5), (7,6.2)y
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9. Reese and Kevin have been working out togefther to fry and lose weight. Reese’s weight loss
can be modeled by the equation y = 203 — 4x where y is his total weight and x is the number of

weeks he has been working out. Kevin’s weight loss progress is shown in the graph below. Who is
losing weight at a faster rate? Explain your reasoning.
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Rules of the Game: 2 to 4 players Rate of Change
The player with the most card sets wins the game.

A card set is made of two cards which have the same rate of change.
There are 26 game cards with functions represented by a table, a graph or

an equation. Copy the cards on cardstock and/or laminate. Cut out each card
individually.
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Deal each person 4 cards. Each person should determine the rate of change
for each function in his hand. The cards not dealt are put in a “draw stack.”

If two of the cards have the same rate of change, those two cards should be
put down as a “set.”

After each player has removed the sets he has in his hand, the player to the
left of the dealer will ask a person of his choice if he has (for example) a
card with a rate of change of 3. If the person has the card, he must give it to
the person who asked for it. The player who receives the card will put down
the set. The player continues asking other players for cards to match the
cards in his hand. When a player he asks does not have the card, he draws
from the “draw stack” of cards and his turn ends. If the student drew a card
that completes a set, he must wait until his next turn to put it down.

Play continues to the left.
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When the “draw stack” is depleted a player’s turn will end when the player
he chooses to ask for a particular card does not have the card.

Play continues until all the matches have been made.

The player with the most sets wins the game.
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2"d Game Match initial values.
The rules of the game are the same as the rate of change game.
Students will have a “set” when they have two cards with the same initial

value.

Note: At the end of the game the sets should be checked to be sure
each student has matched the rate of change or the initial value
correctly.
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y=—2x+3
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Line segment MN begins at (-2, -3) and ends at (4, -3). The segment is translated 4 units left
and 2 units up to form M'N’. What is the length of M'N'?
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5. Ty sells signs in a monthly craft fair, and he can make 7 signs every 2 hours. His friend
Harrison helps him make signs, and the rate at which Harrison makes signs is in the table below.

Hours 0 4 8 12
Signs 0 15 30 45

a. Who is making signs af a greater rate? How do you know?

b. After 12 hours, what would be the difference in the number of signs that each
friend has made?
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6. Julie’s family is filling up the pool in her backyard. The equation y = 8,400 + 5.2x can be used
to show the rate at which the pool is filling up with water where y is the total amount of water
(gallons) and x is the amount of time (minutes). Her neighbor, Elaing, is also filling up their pool as
shown in the table below.

Minutes 0 3 5 7

Gallons 7850 7864.4 7874 7883.6

Whose pool is filling up at a faster rate? How do you know?
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7. Compare the slope in each of the equations
below. Circle the equation that has a greater
rate of change. Show all work.

-9x + 3y =27 -3x + 4y = 24




